Al & Ol & AP & Al M
20149 &= 20 & Lers)
100 XA+
2 110 X2 Al
& 111 BSAl (Sl &&)
Z.a-38-5 Oll &F o & & Ol A d Hns2
ES Al 22,960,019 20,500,000 2,460,019
100 XAl =2 22,960,019 20,500,000 2,460,019
110 X & Al 22,960,019 20,500,000 2,460,019
11 2ESAl 22,510,019 20,060,000 2,450,019
111-03 =8l Al 510,000 460,000 50,000
[ B3I ] 510,000 460,000 50,000
< WS > 510,000 460,000 50,000
O &t 260,000
—330m =t AP A 250& = 1,040,000m’ 260,000
Okas=3-1 250,000
—JHel 5,000& = 25,400AlI CH 127,000
— 8ol 2 OHQIAIE A 50,000& = 2,460 123,000
111-04 T &k Al 5,800,000 5,500,000 300,000
[ B3 ] 5,800,000 5,500,000 300,000
< WS > 5,800,000 5,500,000 300,000
OFalk—1.= 532,000,000,000%& * 2.5/1,000 1,330,000
OEX=Z 1,520,000,000,000& = 2.5/1,000 3,800,000
Oz 446,666,667,000& * 1.5/1,000 670,000
111-05 Xt =S XAl 6,700,019 6,300,000 400,019
[ B3I ] 6,700,019 6,300,000 400,019
<ML > 6,700,019 6,300,000 400,019
OsEXsSXt 3,605,805
— 1000ccOl &t 800ccx 100€ * 1,195CH * 0.7 66,920
— 1000ccO]| &t 1,000cc* 100& * 1,339CH * 0.7 93,730
— 1600ccO| &t 1,500cc * 140& * 2,385CH * 0.7 350,595
— 2000ccOl &t 2,000cc * 200& * 8,712CH * 0.7 2,439,360
— 2000cc== 2t 2,000cc * 200 * 2,340CH * 0.7 655,200
Osg & JENsSK 294,214
= 42,000 * 995CH 41,790
—st= 28,500 = 8,857(H 252,424
O=& A 2,800,000,000& 2,800,000
111-07 g2l Al 4,100,000 4,100,000 0
[ LBrs A ] 4,100,000 4,100,000 0
< WS > 4,100,000 4,100,000 0




09 i 0

z-g-2 Ofl &F o A = 0l o HRE2
6412 * 1,716,0692 1,100,000
6412 * 4,680,188 3,000,000
5,400,000 3,700,000 1,700,000
5,400,000 3,700,000 1,700,000
5,400,000 3,700,000 1,700,000
4,700,000
23,000,000,0002 + 10/100 2,300,000
24,000,000,0002 + 10/100 2,400,000
140,000,000,0002 * 5/1,000 700,000
450,000 440,000 10,000
450,000 440,000 10,000
450,000 440,000 10,000
450,000 440,000 10,000
450,000,000 450,000




